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PRETEHS = (p—a)(p—b)(p—c)(p —d) —abed cos?

P35, ABCD [oiAfi= A ABD [oiAfi+ A BCD [o 17

S :%ad sin A+%bcsinc » 4[14S% = (ad sin A+bcsinC)* ........... (1)
FIERH 4 > AABD [[1BD =a’+d? —2ad cos A

ABCD [[1BD’ =b? +¢* - 2bccosC
i) a® +d? —2ad cos A=b* + ¢® — 2bccosC - [

%(az+d2—b2—c2)=adcosA—bccosC ........... (2)

Fi(1)=2(2) » 4S° +%(a2 +d? —b* —c?)*=(adsin A+ bcsinC)?+ (ad cos A—bccosC)?

=a’d*® + b*c* + 2abcd sin AsinC — 2abcd cos AcosC
=a’d? + b*c® — 2abcd (cos AcosC —sin AsinC)
=a’d” + b*c* — 2abcd cos(A+C)

=a’d*? + bc® — 2abcd cos 26

=a’d® +b*c* — 2abcd (2cos* 6 —1)

=a’d*® + 2abcd + b°c® —4abcd cos® &

=(ad + bc)? — 4abcd cos®

el

452 +%(a2 +d%-b*-c®)?=(ad +bc)® — 4abcd cos® 6

16S?=(2ad + 2bc)* — (a® +d* —b® —c?)* —16abcd cos® 4

=(2ad +2bc+a* +d* —b* —c*)(2ad + 2bc —a® —d’* + b® + ¢*) —16abcd cos® &
=[(a+d)* = (b—c)*][(b+c)* —(a—d)*]-16abcd cos® &
=(a+d+b-c)a+d-b+c)b+c+a-d)(b+c—a+d)—16abcd cos* 4
=(2p—-2¢)(2p—2b)(2p —2d)(2p —2a) —16abcd cos’

=16(p —a)(p —b)(p—c)(p —d)—16abcd cos” &

HIIS* = (p-a)(p-b)(p-c)(p-d)-abed cos” &

1S =/(p—a)(p—b)(p—c)(p—d)—abed cos? @
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